اوجد مركبة التذبذب للسلسلة الزمنية التالية اذا كان طول المعدلات المتحركة 4:
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	المشاهدة
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الحل :
السلسله الزمنيه :    4        11               8               2              4               10             9              3           7         5
المعدلات المتحركه
 بطول (4) :                                    6.25          6.25            6            6.25            6.5        7.25           6 
المعدلات المركزيه :     6.25         6.12        6.12         6.37         6.87           6.62             
مركبة التذبذب :                                  1.75      -4.12        -2.12         3.63       2.13            -3.62



